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(1) Key and lock model

(2) Induced fit model
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2.(methyl-'“C) Pyruvate was administered to isolated liver cells in the presence of sufficient malonate to block succinate
dehydrogenase completely. After a time, isocitrate was isolated and found to contain label in both carbon 2 and carbon
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How do explain this result? (20%)
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3. What is limit dextrin? (5%)
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1. #% i triacylglycerol Z % A Mkt * AT AR L EEAE - (5%)

2. #tt} CisH;'COOH 2 84T & £ % % ATP (1 NADH, 2.5 ATP; 1 FADH,, 1.5 ATP) ? (5%)
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a. carnitine ' _g
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b. acyl carrier protein (ACP)
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1. How many ATP yielded from a complete glucose oxidation in eukaryotic and prokaryotic cells,
respectively (5 %) ?

2. Please describe the functions of complexes involved in the mitochondrial electron transport chain (8 %)

3. Please describe briefly the reconstitution experiment of Racker and Stoeckenius in demonstrating ATP
synthesis by a proton gradient (5%).
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